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Applications of Polynomials
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Touchstone
1. Find the difference between the polynomials.

(-5x22+x-5)—(—3x%* — 8x — 3)
A. —8x?—7x—8

B. —2x%+49x —2
C. —8x%+9x—38
D. —2x%—7x—2

2. Find the product to the following expression.
(x —15)(x — 3)

A. x% + 45

B. x2—18x — 45
C. x%2—18x + 45
D. x%—12x+ 45
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3. Which answer choice is equivalent to the expression?
(x + 6)?

x% + 12x + 12

x? 4+ 12x + 36

x% + 6x + 36
x? + 36

oo ®p

4. A model of a house is shown.

What is the perimeter of the model?
32x + 12

46X + 25

50x + 11

64x + 24 14s + 13

G — 4

12x + 3

oo w®p
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5. What is the area of the rectangle shown?
Simplify completely.
2x% —x — 28

2x2 + x — 28 EER
x? —8x + 45
x? —x+ 28

oo wp

2x — 7
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